
https://www.geekcert.com/h12-211.html
2024 Latest geekcert H12-211 PDF and VCE dumps Download

 

 

 

H12-211Q&As

HCIA-Routing & Switching V2.2

Pass Huawei H12-211 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.geekcert.com/h12-211.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Huawei
Official Exam Center

 

 

Latest H12-211 Dumps | H12-211 VCE Dumps | H12-211 Braindumps                                1 / 3

https://www.geekcert.com/h12-211.html
https://www.geekcert.com/h12-211.html
https://www.geekcert.com/h12-211.html


https://www.geekcert.com/h12-211.html
2024 Latest geekcert H12-211 PDF and VCE dumps Download

QUESTION 1

The network administrator uses the ping command on the AR G3 series router to test connectivity to 

10.0.0.2. The following description of the output is correct. Yes(). PING 10.0.0.2: 800 data bytes, press CTRL_C to
break Reply from 10.0.0.2: bytes=800 Sequence=1 ttl=255 time=40 ms Reply from 10.0.0.2: bytes=800 Sequence=2
ttl=255 time=30 ms --- 10.0.0.2 ping statistics --- 2 packet(s) transmitted 2 packet(s) received 0.00% packet loss Round-
trip min/avg/max = 30/35/40 ms 

A. The command used by the network administrator is ping -c 2 -s 800 10.0.0.2 

B. The command used by the network administrator is ping -a 2 -v 800 10.0.0.2 

C. Destination address 10.0.0.2 is unreachable 

D. The network administrator modified the default TTL value to 255. 

Correct Answer: A 

 

QUESTION 2

Which of the following fields are included in an MPLS header? (Choose three.) 

A. Label 

B. TTL 

C. EXP 

D. Tos 

Correct Answer: ABC 

 

QUESTION 3

In the DHCPv6 stateless autoconfiguration solution, hosts do not need to send any DHCPv6 packets. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 4

Router] ip pool pool1 [Router-ip-pool-pool1] network 10.10.10.0 mask 255.255.255.0 [Router-ip-pool-pool1] gateway-list 

10.10.10.1 [Router-ip-pool-pool1] quit [Router] ip pool pool2 [Router-ip-pool-pool2] network 10.20.20.0 mask
255.255.255.0 [Router-ip-pool-pool2] gateway-list 
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10.20.20.1 [Router-ip-pool-pool2] quit [Router] interface GigabitEthernet 0/0/1 [Router-GigabitEthernet0/0/1] ip address
10.10.10.1 24 [Router-GigabitEthernet0/0/1] dhcp select global Refer to the configuration output. Following
configuration, a host is connected to the interface Gigabit Ethernet 0/0/1 of the router. Which IP address will the client
obtain?  

A. An IP address from network 10.10.10.0/24 will be assigned. 

B. An IP address from network 10.20.20.0/24 will be assigned. 

C. The host will be unable to obtain an IP address. 

D. An IP address may be assigned from either 10.10.10.0/24 or 10.20.20.0/24. 

Correct Answer: A 

 

QUESTION 5

Link aggregation is a common technique in enterprise network. Which of the following description is the advantages of
link aggregation? (Multiple Choice) 

A. Improves link bandwidth. 

B. Implements load sharing. 

C. Improves network reliability. 

D. Facilitates data copy for analysis. 

Correct Answer: ABC 
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